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'—De.fiv\'rbe lVY('.QjY‘ﬁ' USM3 Scbsrtution

wb
.r':-f(mcﬂ)-m’eodx - J'w,,: Jowdu

!
eﬂ. ,('o Ex 2+ 1) e et =~
du
-3 inilar o wndefite inbearrtio
| =~ } Similar to W\def te MbEjm'b "
S 8y e L= 2
. when x=o , =1 } New
/-;)S“ &A —é—clvx K=l , W= ':Don"b foﬁeﬂ?
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Remark.:

Some vm:a_ write

Still o and

( (
Sv Ex O = Yv 42 O d6dn) (as dE&de) = d2xdx )

[1&‘-1- l)];

-6

(Just the same resute 2)




LE": U= lnx

e'S Je Xinc
dl&.=—_l-di_
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|
-\f,ndu when x=e , w=|I
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=Ll u\l x=€ , wu=2




Defin‘rte lw':?ﬂm(:lov\ USMj lv*e'jvcd')on B«a Parts

j,:u%dx - [uv]: -S:V S—:dx

e
e.j. &em I xche = j. ln x d(%)
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"Remark on Comrw(:a'b’mn cf Defin’rte lw(:earals
To c:ow1l>\xte S "f(-zoe\x. we need —+to -fv\cl an antidevivative. Feo c‘f feo

+then X Feodx = Fibr- Fan

Question : But what can we do nj’ we are not able +to fiml an  antidevivative Feo ?
(oR not wcterested n -ﬁvdina Feo )

Answer : Pn aFFvuxiwu(:iov\ moy be. aoocl enouﬁl«\.



—rm'Fezoida\ Rule

(Rwakla sFeal:inj, Oﬂbmx'\w\aﬁng Ea Sum c‘f areas Gf ‘HaFeziwms.

|
2.8. J‘o <+ (PIFFvoxlmdﬁed Ba 3 'tY'aPQZIIAW\S )
~ —{—E—f(on-f(%)]-—;— + —{—E—f«g-n-f%)]--‘s— + —{—E—ﬁ%n-fm]-—g—
= 4§ Lo+ 2D+ 2f @+ fw]
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l 3
Cow\?ave e ,(.ox‘-a-(dx = [%-‘-11', = %— 2 133

(asi‘-‘-l

(o]

%

RES



. ﬁev\eml . We use n 'braFeznwvs (n subintervals )
Uswlla , movre ‘bnzFeznwv\s we use , better aFrvoxiwxa'(:‘aon we. 36(: ?

Refer “+o section 62 of the +textbook or deduce -the f:vww\lq aowgelf :

b
\(’Qf&)dx = -%—[-f(x,)-&lf(—m+:.f6®+--- +1—fe:....) +fe=z.a]

wheve. mul"—;f‘ P A= QA LA 'for =0, 1,2,



A‘Frhcaﬁon :

eq A polluction
<+ : time (taeavs)
Leor : Level cf carbon  monoxide  (Co)
Guen : L) = 01+ + o parts per willion (ppm)per year.
Q : How much will the 'I)ouu\'tion Ql'\anje dw‘w\j the next Years
Lets =§% = Oolt+ol

Lew - J e it
= j‘o.l-(-_+o.| St

= 0.05+ + 0.1+ + C

|

How o determine 2 lmFoss“uBle, [4



—__[km\;_caa@‘%\JhaJkrsz_nead_“ls NST L), but LX-lw ?

L = 005+ +0.0+ +C

@) -lw = [cozaiiol@+c] - [oos6s + 01w +C]

\Cqmelled_l_ls\g_mml_-(:sidetgnmae.’

= O-:!'R ‘INF_W\

Cqumg ; f: L JE v(iol-(--t-ol de

3
- [o.o5€+01+ ],

[cozaicoil@] - [o.o5+ 0.1 @]

O.F5 pwm

(> PF
(same 1)




‘?{ /L'et-.) =olt+o0.l




Sil_'(-h)d'& = Area. cf the. veaion under the Smrl'\ L'(-b) over the wterval osts<.
(= 3wnmin3 uF the areas cf all rec(:avﬂles and 'Eal:ir\\j limit le'l’& é Fee st )

= c\'\anje sf co f\mw\ +t-=0 +to t-=3.

S .
wmnmary

NO‘H/\?V\j LDWE -Hr\e. \’QSM\'E -'fbuouoed -from Fme\ame.v\'ﬁa‘ —n\eore.m cf Calcdus 5
F - Fead =.f F(x)dx
[

! A
Cl«anﬂe. of F Yate uf C]na.v\je. uf F
fvom x=a *o x:b w‘rﬂr\resrect'to =< .



+ . time  Chowr)

o ¢ o prote

'Fnie‘m—» amino _acid

-

0

N=

A-0-I




'FW@V\ ——> amino acid
Cause a decrease In mass at a vate :
-2

= =5 8/ v

decrease i wass cjz a 'Fvo-tein from +=2 4o t-=-5
= mB) - m>
dm
e

5
=~Yz '(:_?l-l e

=[2ln |-(:+||]i

26 +2ln3

-aln (heja'b’lve_ s‘jn ndicates  a decrease )
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a 5 — b/




eg. Bnd e area bounded by u-+ and
d g dJ

[a\y
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eq. Find the area boaaglgd buy,
J (@]

=‘e(x)=x . W= ak e 2 qy\d Msl’\60='}x+).
o Q . o 3 | 0

u
g J

Avrea - ‘: heo - feo e+ C 360—-feo dx
Ex: :

Brs : <24 (L+a)
=%+ |nl|-




gol'ds st Revolution avxq\ -D"\s‘t Metthed .
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7./ / d
/’B// Ly >
a b

\"d“ﬂ"‘iﬂé R dbouxt x-axs
6‘.ves a solid S

Volv\me b’f S
S OCF voximated
l:g) Sbh& chsk‘s
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/NN \/olu\mg ~ TC[f(x:)] A

P
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N =l

Volume. c'jz S = Iim 2 'ft["f(x-.)]le

o N b .
S JES X PO 5 O




e..a. f(-z)=]'Rz-x" ’fbr “Rs=xsR

1

0
/‘\\6 = f &) -=J'R - Sewi  circle
(;\ = >

“R Solid S = a sFl/\eve with radius R

volume. w‘f S = R‘[Z[jeeofdx

= T I_R‘R —R;-fdx

w [Rx- %]l

%’m‘Rs (fbvm/\la [T Seconclana Scl'\oel )



EX: (L\,Y)

a) Find the eiua('jon cf the. sbra‘ﬂkt line L.
b) What is the selid S gererated by rotating L dbost the x-ads 2
) Volume °j2 S<?
Ans: @ Y =L
b)) a cone with l'\e“\sl«-&. = h , base vadins =r
& FTeh



